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Section 1. Structure and Written Expression

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you
will see four words or phrases, marked (1), (2), (3) and (4). Choose the word or

phrase that best completes the sentence. Then mark the correct choice on your
answer sheet.

Early sailing ships, --—-—-— sometimes in uncharted seas, faced many hazards in reaching
their destination.
1) navigate 2) navigating 3) were navigated 4) and navigates

Yellowstone National Park’s attractions include the famous old Faithful geyser, vast forests,
plentiful wildlife, and

1) maintains campgrounds well 2) well-maintained campgrounds

3) campgrounds are maintained well 4) campgrounds are well maintained

Grace Kelly was first famous as a Hollywood actress and then of Prince Rainier of
Monaco.

1) the wife 2) as the wife 3) to be the wife 4) she was the wife

A fine tomb, -—-—----, marks the grave of the poet Chaucer-

1) erecting in the fifteenth century 2) being erected in the fifteenth century

3) erected in the fifteenth century 4) which in the fifteenth century was erecting
Not until Edward Jenner developed the first anti-smallpox serum in 1796 ---------- against this
terrible disease.

1) protection was 2) it was protected 3) was there protection 4) protection was given
Koopman argued strongly that -—-—-—-- the 0 -theory parameters ---------- basic word order.

1) they are — which determines 2) they are — which determine

3) it is — that determine 4) 1t 1s — that determines

In recent years linguists have continued the overall approach by expandlng the number of
functional phrases, -------—- physicists discovering new particles.

1) rather like 2) as like as 3) in like the way that 4) in the same way like

Languages differ over the lexical items that may be used as anaphors or pronominals, and in

the details of the syntax, but — observes binding.
1) all them anyway 2) all of them anyhow
3) each them nonetheless 4) each of them nevertheless

To some extent, Chomsky’s ideas are not -- their originality has been obscured; for,
prior to chomsky’s work of the late fifties, language was not knowledge but behaviour.

1) so taken for granted that 2) such considered evident that

3) so considered evident which 4) such taken for granted which

One person may like to spend his vacation at the seashore, another may prefer the mountains,
while ---—----- may choose a large metropolis.

1) another 2) the other 3) still the other 4) still another

It seems true that —-------- usually as simple and unambiguous -—------- milk deprivation or a
volcano erupting.

1) nor 1s a siimulus — as 2) a stimulus 1s not — as

3) neither is a stimulus — like 4) a stimulus is neither — like

The LAD conceptualization was a powerful metaphor for language acquisition, McCawley
indeed insists that it is true —----—-- of language acquisition, -- Universal Grammar.

1) of any theory — not just of 2) of every theories — not only of

3) about all theories — except that of 4) about the whole theory — but that of

Explanatory adequacy had secemed an optional extra
grammars that were descriptively adequate.

1) even to be applied to in the improbable case that

2) yet to employ at the unlikely event which

3) still to apply to at the improbable case which
4) only to be emploj,:ed in the unlikely event that

--- there were two competing
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Grammatical explanation does not figure -——--—- in the experience of L1 children. L2
learning is, -~—---- different, at least for those learners who encounter the language in the
classroom.

1) prominently — however 2) prominent — although

3) prominently — whatever 4) prominent — whichever

Also relevant to movement is the concept of 0 -position, a 0 -position is one —------ a 8 -role is
1) that — assigned to it 2) to that — assigned

3) which — assigned to it 4) to which — assigned

Section II. Vocabulary

Directions: Questions 16-25 are incomplete sentences. Beneath each sentence you

will see four words or phrases, marked (1), (2), (3) and (4). Choose the one word

or phrase that best completes the sentence. Then mark the correct choice on your
answer sheet.

In Sir Arthur Conan Doyle’s detective stories, Sherlock Holmes manages to --—-—-—- the
cleverest criminals.

1) bruise | 2) hammer 3) outwit 4) strike
Which word is NOT related in meaning to the other words?

1) beguiling 2) deluding 3) overbearing 4) misleading
When you wish to something in your composition, you may underscore it.
1) amend 2) correct 3) erase 4) stress

When discount houses tried to —--—-—- department stores, the latter reduced prices too, and
adopted the slogan “we will never be sold as a lower price”.

1) barter 2) exchange 3) undersell 4) deal in

Janet is doing her best to pass English because she —--—— the thought of having to repeat it
in summer school.

1) admires 2) abhors 3) glorifies 4) cherishes

To take part in a school’s intramural program, you must ---—-——,
1) be on the school team

2) be a student at the school

3) have passed the school examinations

4) have approval for competingwith students of other schools

Shortly after President Kennedy’s —, Vice President Johnson was sworn in as the new

chief Executive.

1) departure 2) decease 3) dissolution 4) disintegration

In JOHNNY TREMAIN, there are -—--—--—- characters like Johnny and Rab as well as real
ones, like Samuel Adams and Paul Revere.

1) counterfeit 2) fictious 3) genuine 4) literary

Which word is NOT related in meaning to the other three words?

1) belligerent 2) combative 3) timid 4) warlike

Three students are --—--—- from taking the spelling retest; they got 100% in the original test.
1) exempt 2) excused 3) dismissed 4) discharged
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Section III. Cloze Test
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Directions: Read the following passage and decide which choice (1), (2), (3) or (4)
best fits each space. Then mark the correct choice on your answer sheet.

The two questions of knowledge and acquisition have merged to some extent; an answer to the
one (26) -——--mmn-- an answer to the other. This chapter (27) ------—--- sweep of Chomskyan ideas on
language acquisition primarily through the concepts (28) -----—--—-- from the previous two chapters;
chapter 8 takes the discussion to a more technical level when the details of the syntactic model (29)
-----—--- and considers some current topics of research. The present chapter starts with general ideas
about acquisition, goes on to illustrate them from first language acquisition, and then (30) ----—------

second language acquisition. To some extent, Chomsky’s ideas are now (31) -------——- their
originality has been obscured. For, prior to Chomsky’s work of the late fifties, language was
considered to be (32) ---=-vunmn , as incorporated in the structuralist linguistics tradition best known
from Bloomfield’s book Language. Bloomfield had seen language acquisition as initiated by the
child more or less (33) -------—-- sounds such as da; these sounds become associated with a particular
object such as a doll (34) —----—- --so that the child says da whenever a doll appears; then the child
learns to talk about doll (35) ~-----=--- present — ‘displaced speech’. The adult is a crucial part of the
process; the child (36) —--—-—--- da for ‘doll’ without the adult’s reaction and reinforcement. This

Bloomfieldian version of language acquisition was the commonplace of linguistics before

Chomsky. What Chomsky specifically (37) -------ee- however, was the more sophisticated
behaviourist theory of B.F. Skinner, put forward in Verbal Behaviour. A sympathetic (38) --—-—--

approach can be found in Paivio and Begg (1981). Skinner rejected explanations for language that

were inside the organism in favor of explanations (39) -------- --. Language is determined by stimuli
(40) —---—---- attributes of the situation, by responses the stimuli call up in the organism, and by
reinforcing stimuli that are their consequences.

1) cannot be detached of 2) can be not detached of

3) cannot be separated from 4) can be not separated from

1) begin the broad 2) initiate the wide 3) announces the wide 4) introduces the broad
1) already familiar 2) already common

3) previously popular 4) previously conventional

1) were developed 2) have been elaborated

3) had been explained 4) will have been devised

1) examines their relationship to 2) study their relevance to

3) looks at their relevance for 4) watch their relationship for

1) so taken for granted 2) such taken for granted

3) such taken for granted that 4) so taken for granted that

1) nor knowledge 2) not behaviour

3) not knowledge but behaviour 4) neither knowledge or behaviour

1) accidental produced 2) accidentally producing

3) unintentional producing

1) because of the parents’ reactions
3) owing to the parents’ behaviours
1) when one is 2) even when one is
1) will never learn to use

3) has never learnt to apply

1) accepted 2) confessed
1) account about skinner

3) description of skinner

1) under conditions of terms

3) in favourable conditions of terms
1) consisted of special

3) amounted to exceptional

4) unintentionally produced

2) due to the reactions of the parents

4) thanks to the behaviours of the parents
3) when one is not 4) even when one 1s not
2) would never learn to use

4) have never leamnt to apply

3) eliminated 4) repudiated

2) account of skinner’s

4) description about skinner’s

2) in terms of outside conditions

4) on reasonable terms inside conditions
2) consisting of specific

4) amounting to particular
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Sections IV. Reading Comprehension

Directions: In this part of the test you will read four passages. Answer the

questions about the passages by choosing the best choice (1), (2), (3) or (4). Then
mark the correct choice on your answer sheet.

PASSAGE 1:

A substantial part of linguistic investigation is into the nature of the differences
among the languages of the world. The nature of variation is very important to an
understanding of human linguistic ability in general: if human linguistic ability is very
narrowly constrained by biological properties of the species, then languages must be
very similar. If human linguistic ability is unconstrained, then languages might vary
greatly. -

But there are different ways to interpret similarities among languages. For example,
the Latin language spoken by the Romans developed into Spanish in Spain and Italian
in Italy. Similarities between Spanish and Italian are in many cases due to both being
descended from Latin. So in principle, if two languages share some property, this
property might either be due to common inheritance or'due to some property of the
human language faculty. Of course, there is always the possibility of random chance
being at the root of the similarity, such as with Spanish 'mucho’ and English 'much,
which are not related historically in any way, though they mean essentially the same
thing and sound similar.

What would the possible topic be for the above passage?
1) Human Linguistic Ability

2) Similarities among Languages

3) Some Property of the Human Language Faculty

4) Nature of Linguistic Similarities and Differences

According to the passage, languages might be very different human linguistic faculty.
1) if biological qualities do not limit

2) if inheritance imposes restrictions on

3) if the nature of variation is very important to an understanding of

4) if the nature of uniformity is very significant to an understanding of

There exist —-—-----—- among languages.

1) common approaches to justify similarities 2) conventional methods to explain similarities
3) ordinary approaches to justify resemblances  4) numerous methods to explain resemblances

If two languages have some property in common, this property ——--—-—.

1) must result from common ancestor only

2) might result from common property of human language ability

3) might either result from common ancestor or common property of human language ability
4) must both result from common ancestor and common property of human language faculty
The author finally concludes that -—-—--— two languages -———-—--,

1) the conformity in - might stem from accidence

2) the conformity in - may be due to systematic change

3) the difference between - is always due to accidence

4) the difference between - stems from deliberate human interference

PASSAGE 2:

There are documented cases of sign languages being developed in c s
congenitally deaf peﬁple'.vi.rhn could not ﬁﬁmb:ngemm mﬁﬂm? %‘f?j
properties of these sign languages have been shown to conform generally to many of
the properties of spoken languages, strengthening the hypothesis that those properties
are not due to common ancestry but to more general characteristics of the way
languages are learned. -



Loosely speaking, the collection of properties, which all languages share, can be
- referred 1o as "universal grammar" (or UG), the characteristics of which is a much
debated topic. Linguists and non-linguists also use this term in several different ways.

Universal properties of language may be partly due to universal aspects of human
_experience; for example, all humans experience water, and all human languages have
a word for water. Nonetheless, UG seeks to define those structures which are
necessarily a part of all human language because of the de facto structure of the
human mind-so similarities in human language which can be attributed to having

arisen out of similarity of experience do not provide information for answering the
more difficult questions about UG.

46- According to the passage, one can find recorded instances of sign languages —---——- deaf
people who could not have been subjected to spoken language.
1) being grown among innately 2) being invented among spiritually
3) being produced by communities of physically 4) being changed by communities of congenitally
47- It has been indicated that the characteristics of sign languages -- those of spoken

languages.
1) mostly correspond to 2) generally differ from
3) strongly conflict with 4) typically disagree with

48- One can refer to the series of features that
1) all languages have in common
2) all languages somehow have a role
3) linguists and non-linguists use in various ways
4) linguists and non-linguists apply in the same way
49- Part of the universal characteristics of language ------—--.
1) stems from human language faculty
2) results from the imaginary structure of human mind
3) 1s owing to unusual facets of human language experience
4) 1s because of uncommon aspects of human experience
50- The author finally concludes that one can answer the more problematic questions about UG
by seeemamee,
1) ascribing the differences of world languages to the common human experience
2) attributing the similarities of languages to the structure of human mind
3) attributing the differences of languages to the structure of human mind
4) ascribing the similarities of world languages to the common human experience

PASSAGE 3:
Theoretical linguistics is concerned with finding and describing generalities both
within particular languages and among all languages. Applied linguistics takes the
results of those findings and applies them to other areas. Often applied linguistics

mfemtuﬂreuseuflmgumﬂcrcs&archmlanguagcteachug,hutmulmofhngmsnc
research are used in many other areas, as well.

, as UG.

Many areas of applied linguistics today involve the explicit use of computers. Speech
S}"Hﬂtﬁﬁls and speech recognition use phonetic and phonemic knowledge to provide
voice interfaces to computers. Applications of computational linguistics in machine
translation, computer-assisted translation, and natural language processing are
extremely fruitful areas of applied linguistics which have come to the forefront in
recent years with increasing computing power. Their influence has had a great effect
on theories of syntax and semantics, as modelling syntactic and semantic theories on

- computers constrains the theories to computable operations and provides a more
rigorous mathematical basis.

51- What does the passage mainly discuss?
1) Applied Linguistics
2) Theoretical Linguistics
3) Use of Linguistics in Language Teaching |
4) Application of Linguistics in Machine Translation

MMQL&U,)@M}'@HL&)KQ"W‘,)L"&?T
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According to the passage, theoretical linguistics ---—---—-- detecting and describing
gepera]izaﬁnns both within particular languages and among all languages.

1) 1s concerned about  2) takes action on 3) manages on 4) deals with

The consequences of linguistic investigation are —----—--,

1) only employed in language teaching

2) often utililized in many areas

3) only applied to such areas as machine translation

4) frequently used in the area of language teaching

Application of computational linguistics in machine translation and natural language

processing are of applied linguistics that have come to the forefront.
1) reasonably advantageous fields 2) relatively helpful areas

3) greatly worthwhile fields 4) moderately fertile areas
What does “their’ in line 11 refer to?

1) many areas of applied linguistics

2) applications of computational linguistics

3) speech synthesis, speech recognition and phonetic and phonemic knowledge

4) machine translation, computer-assisted translation, and natural language processing

PASSAGE 4:

Children have to acquire a language from the evidence they encounter. Without any evidence at
all, they will acquire nothing; with evidence, they will acquire Chinese or Arabic or any human
language they encounter. The ‘logical problem of language acquisition’ hinges upon the types of
evidence they meet and the uses they put it to. This can be illustrated by looking at how one might
learn to play games such as chess or snooker. Let us take snooker as an example — the reader who
does not know the game will find the example even more convincing! After years of watching
snooker on television, Joe Smith knows from observation some of the sequences of colours in
which balls are hit by the players: for example every other ball has to be red and the last ball of all
has to be black. If he started to play snooker tomorrow, he could copy the sequences he has already
observed, but he would not be able to tell if a new sequence, say two red balls in succession, was
illegal, or simply one he had by chance not encountered before. He would have no idea what

sequences are actually impossible because, given the standard of competition play, he has only seen
sequences in which the rules are obeyed rather than those in which they are broken. While he might
pass as a snooker player for a few minutes, an adequate knowledge of snooker involves knowing
what not to do as well as what to do.

What does the passage mainly discuss?

1) First Language Acquistion

2) Standard of Competition Play .

3) Nature of Evidence Available to the .1 Learner

4) Acquisitionof Chinese or Arabic or any Human Language

According to the passage, in the first language acquisition there seems to be —————.

1) a problem that depends upon the kind of evidence children face

2) no special problem particulary if compared with games such as chess or snooker

3) no special problem that may be attributed to the types of evidence children meet

4) a problem especially if compared with some of the sequences of colours in which balls are hit by

the snooker players
The reader who does not know snooker, will be ——--— by the example.
1) confirmed 2) discouraged 3) induced 4) persuaded

Joe Smith knows from observation some of the sequences of colours in which balls are hit by
the players, for example —-—--—-has to be red and the last ball of all has to be black.

1) the second hit on each round 2) the first hit on each round

3) one ball in three 4) one ball in two

The author eventually concludes that what is important in playing snooker is ————-— of
colours.

1) neither the legal nor illegal sequence 2) not the legal or illegal succession

3) not just the legal suceession 4) just the legal sequence
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